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A Vocabulary and structure (15 Marks)
(15 Marks - half mark each)

Choose the correct answer from a, b, ¢ or d:

1- (& taken

2- (@ was crying
3- (© suppose
4- (@) reputation
5- ® are asked
6- @ should
7- (@ landmarks
8- (@ pressure
9- (@) eating
10- @ influenced
11- @) sunburn
12- (o role

13- ® what

14- @ sucha
15- © every
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16- @ bark
17- (© have broken
18- (© had already visited
19- (© commuters
20- (@) applied
21- ® hadto
22- (b) anniversary
23- (@) ease
24- (@ established
25- (® link
26- (® will manage
27- (© are going to win
28- (@ cooked his dinner
29- (@ correspondent
30- @ had
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Read the following passage then answer the following questions:
(10 Marks)

(One mark each)

- Choose the correct answer:
31- (@) extinct

32- (©) unlawful

33- (©) demolished

34- (@ protect

35- (b)rabbits and mice
36- (@) ivory

Answer the following questions:

37- They are treated with great cruelty
38- Saving animals from extinction

39- through Killing rare animals and used in the manufacture

of expensive clothes.
40- They refer to protecting animals

(Any reasonable and related answer is accepted)

r9/0-1A Joll jgaJl - A=alpol) Aulhhl) A A i



VoA /Yo NA ul gl plall - Jo¥1 5ol - Zelall A gdllt Aul yuldt plalf B lgdd (o g AA) Ao ¥ 1 AAMN Bale dilr| Z3 400

(@) zagedt
The Novel (8 Marks)

Choose the correct answer: (4 Marks)

(One mark each)

41- @) To keep Rassendyll’s reality secret from the Marshal.
42- (b)) The Duke and his servants had a dangerous illness.
43- (©warn her against the Duke.

44- (D The King trusted them

45- Answer only Two (2) or the following questions
(4 Marks - Two marks each)
e TheDuke Knew thatif he killed the King, Rassendyll would

replace him forever, which made him keep the king alive.

e Being loyal to the king, sapt, fritz and Rassendyll had
cooperated together until they saved the king. De Mauban
and johan betrayed Michael when they cooperated with
Rassendyll telling him about Michael’s plans which helped

save the king.

*  Yes, because she could persude Rassendyll to have the job
with Sir Jacob.

(any reasonable and related answer is accepted)
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46- Finish the following dialogue: (6 Marks - one mark each)

Mona: I am from The New valley.

Mona:  No, I am studying here.

Hala: How long have you been studying here?
Hala: What are you studying?

Mona: What about you?

hala: I’m studying medicine.

(Any reasonable and related answer is accepted)
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47- Translation (5 Marks)

A) Translate into Arabic

(3 Marks - one and half marks each.

LRaT Y aand sy dpalle b sl A o BN -

W a9 535 gall duliel) daiall CDISEA g el AN lad) O fialdl Jay 0 -
LSy

B) Translate one sentence only into English (2 Marks)

e African peoples celebrated the selection of Aswan as the

capital of the African culture.

e  Some people have benefited more from modern technology

than others.

(Any reasonable and related answer is accepted)
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48- Paragraph (6 Marks)

6 Marks: one mark for each of the following, coherence,

cohesion, structure, spelling, punctuation, and vocabulary)

- repeated mistake is counted as only one mistake

- from 1 to 2 language mistakes, the full mark is given.
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